Honors Precaclulus
Woarksheet #2 Name /&5{

Solve GRAPHICALLY using your calculator. Round to three decimal places. LABEL & SCALE ALL GRAPHS.
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C) Using your graph, /~ + )
. explain how you found the solution. [

I SR VIR S
™~

\n 4 er sechisn

v ! “(£x2/03)
~R0 /:ff £/0; 2

y = 5x*— 10x% + 3 &

A) Graph j \

__,.
7)
S

13
—)
et

B) Window \
X min i y min =5

xmpax. . L y max s
x scale \ y scale \ \

€) X-—intercept(s) S« bzbé/"w A |-

—

_—
=
—

4N

‘_
aw
i LS
—
L)
Vr‘

D) Y —intercept (0}3) \
E) Minimum Points: (“’} "‘?J C (., ""Q

F} Solve where y=0

Xlzh‘\ln xzzm Hal= NA) Ko
- o062 |.2T77 e

~BEx<3,/

~?




0 %)
3. United States Exports: For 1980 through 1990, the total exports, E (in billions of dollars), can be

modeled by : 0 &xé |0 J{
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Where t = 0 represents 1980
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4. For 1980 through 1990, the sales S (in millions of dollars), of snow equipment can be modeled by:
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Where t=0represents 1980
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Explain how you got your answer. |
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